# YOUTH WITH A MISSION

# **HOPELAND JINJA**



# **PROPOSAL**

# HOMES OF HOPE COMMUNITY OUTRECH PROGRAM

Amount Requested: \$15,089

Email: hopeland@ywamuganda.org

WhatsApp: +256755334309

YWAM Hope Land

PO Box 739 Jinja, Uganda

Visit our website: www.ywamhopeland.org

Email: Hoh@ywamhopeland.org

#### **Introduction:**

Youth with A Mission (YWAM) is an international, worldwide Non-Profit organization with a mission of Knowing God and Make Him Known to others by sharing the transformative love of Christ through community and social economic empowerment for transformation

Hope Land is a YWAM campus located in Jinja (Uganda), on the shores Lake Victoria, founded to accelerate this mission in Eastern Uganda. Our vision is to train and equip communities to live a hope-filled life.

Empowering communities means meeting the challenges of the communities that YWAM serves. YWAM Hope Land reaches out to disadvantaged communities, individuals, and children through the Homes of Hope ministry, which involves building homes, latrines/toilets and related accessories for slums, vulnerable communities, and poor families, with focus to revive them so that they live a life of full of limitless potential and joy, and to experience love. We serve communities in the Lake Victoria basin, which is home to over 30 million people across East Africa, but focus specifically in Eastern Uganda.

### **Homes of Hope: Mission**

To reach out to the vulnerable communities with sustainable holistic housing solutions so that they live a life full of hope and love, and live up to their potential.

## **Homes of Hope: Objectives**

- Provide housing to the disadvantaged, and to promote holistic living.
- To increase toilet utilization in Jinja Municipality slums for Heath promotion
- To promote personal hygiene and healthy living
- To eliminate open excretion in Jinja Municipality

#### **Problem Statement:**

People in Loco Cell slums, Old BOMA ward in Southern division of Jinja City have developed water-related health problems that are arising from the increasing number of





people practicing open defecation, due to a lack of access to hygienetic toilets and bathrooms. The existing ones that are being used are in filthy state. They are

made of poly bags, wooden poles and papyrus, with a few old concrete structures. The structures are dilapidated, have no doors, the floors retain waste water, and the drainage lines are blocked.

In every 10 women/girls from this community, 5 have reported and proved to have urinary tract infection Candidiasis as per Jinja Central HCIII records, in the first quarter of 2024/25. This has been researched, and it was found out that the root cause in the Cell of Loco slums being that they are utilizing filthy toilets and bathrooms that are existing in this Cell. Others do not report their sickness to the clinic for treatment, and resort to herbal medicine, because they fear to be examined at the health facility since they are still youths. Homes of Hope is looking at renovating the existing toilet structure. This is the easiest approach to prevent this prevailing health problem in this community, and it's made possible by facilitating the approved budget attached on this proposal. One would hope that the government should take care of such but their priorities are else where in addition to limited funding due to political effects of sanctions like those due to the passing of gay bill which have limited donation base for the country.



# **Proposed Solution:**

To address the urgent challenges above, a solution is found in the Youth With A Mission (YWAM) Hope Land Homes of Hope program, which builds homes for vulnerable families, especially single mothers, widows, and elderly. The Homes of Hope program also serves to carry out the construction of the hygienic facilities in slum communities and schools to ensure improved healthy living. This initiative reduces the health pressures on these communities, and also reduces child

mortality, and improves social economic transformation.

# **Funding Request:**

We are seeking 15,089 dollars to help support the building of 3 toilet facilities in the loco cell slums community in Jinja municipality. We desire to transform this community despite their limitations, and so we are reaching out to you to stand with us to serve these communities by contributing donation towards this project.

# **Project Timeline:**

The program for loco cell slums targets June 2024, as the unexpected rainy seasons have worsened the situation which calls for urgent to action.

## **Monitoring and Evaluation:**

To ensure the effectiveness and continuous improvement of the programs, YWAM implements a robust monitoring and evaluation process. This involves regular assessments, feedback mechanisms, reporting and adjustments to the programs as needed.

#### **Budget Summary Breakdown for Loco Cell slums:**

HOMES OF HOPE TOILET PROJECT BUDGET 2024						
NO.	ITEM	QTY	UNIT COST	AMOUNT		
1	Iron sheets	28	55,000	1,540,000		
2	Cement	40	35,000	1,400,000		
3	Bricks	2500	300	750,000		
4	Transportation of bricks	2	100,000	200,000		
5	Timber 8x4	66	30,000	1,980,000		
6	Roofing timber 6x2	86	15,000	1,290,000		
7	Steel bars	26	25,000	650,000		
8	Wire mesh	10	65,000	650,000		
9	Labour	3	3,000,000	9,000,000		
10	Aggregates	6	200,000	1,200,000		
11	Gutters	15	35,000	525,000		
12	Toilet and bathroom doors	24	150,000	3,600,000		
13	Flooring tiles boxes	27	40,000	1,080,000		
14	Tiles cement	11	40,000	440,000		
15	Water proofing	9	36,000	324,000		
16	Stripes	12	15,000	180,000		
17	white cement	9	40,000	360,000		
18	Bathroom tiles boxed	12	40,000	480,000		

19	Face board	27	25,000	675,000
20	Nails in kgs	81	6,000	486,000
21	Roofing nails in kgs	38	5,500	209,000
22	Sand in trips	12	250,000	3,000,000
23	Pvc pipes	15	60,000	900,000
24	Paint in 20 ltr jerrycan	12	250,000	3,000,000
25	Transport	1	100,000	100,000
26	Renting mixer	3	500,000	1,500,000
27	Renting generator	3	300,000	900,000
28	Water tank	3	1,500,000	4,500,000
29	Red oxide	12	25,000	300,000
30	Toilet covers	18	27,000	486,000
31	Ventilators	86	2,500	215,000
32	Digging toilet	3	2,800,000	8,400,000
33	Miscellaneous costs	1	4,000,000	4,000,000
	TOTAL			54,320,000
	USD			15,089

#### **Conclusion:**

The establishment of Homes of Hope initiative by Youth with A Mission represents a significant step towards transforming lives, empowering communities, and contributing to local social economic development. The initiative aligns with YWAM's overarching mission of positive community impact, and reflects the organization's dedication to fostering sustainable, long-term change. YWAM seeks support and collaboration from stakeholders who share this vision, and are committed to creating a future where individuals have healthy living, hope and opportunities to thrive.